

Arbeitnehmer 4,000 € Brutto
(TK, keine Kender) An AG

UV 306 306

PV 71 61

AV 48 48

PV 372 372

797 787

Außernehmer: 6.000 Netto
(TK, KeneKunde)

KV

AV

AG

358,59

83,20

71,48

AV

72

72

RV

3,58

2,58

1071,79

1060,07

Arbeitnehmer: 8.000 Brutto

(TK, ohne Kinder)

KV

AN
358,59

AG
358,59

PV

83,20

71,48

AV

82,80

82,80

RV

641,70

641,70

2121
1166,29

2121
1154,57

$$GFB = 9408 \quad KZTAB = 1$$

$$X = 50.000 \quad \text{zu versteuender Einkommen}$$

$$Y = (50.000 - 14532) / 10000 = 3,5468$$

$$RW = Y \cdot 212,02 = 3,5468 \cdot 212,02 = 751,992536$$

$$RW = RW + 2397 = 751,992536 + 2397 = 3148,992536$$

$$RW = RW \cdot Y = 3148,992536 \cdot 3,5468 = 11168,1 \dots$$

$$\downarrow \text{ST} = RW + 972,79 = 12141$$

Passivhafter 4 2640 €
 $4 + 1 + 4 + 4 = 13$ ↗

Leiderer 2 1870 €
 $2 + 3 + 2 + 2 = 9$ ↗

Qualitätskontrolleur 3 2200 €
 $3 + 1 + 3 + 3 = 10$ ↗

Reinigungsdrift 1 1.210 €
 $1 + 3 + 1 + 1 = 6$ ↗